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ZHrDX. (SH30F, AfkasF, B 13107, C#&24))

D
8 km= m
0.5 cm= mm
1260 m= km
25 mm= cm
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0.25 m=
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374 mm=
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(3)

(5)

(7)

6.1 km= m
5.7 cm= mm
990 m= km
64 mm= cm

DX, (SH30F, Afk4sF, B 13108, C#24y)

(2)

(4)

(6)

(8)

3.2 m=

0.4 m=

28 cm=

288 mm=

CcIm

mm

m
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R#ETFAL B RS 01

mREREHR

RD 90X, (SHK30F, Afkas s, B 1108, C #2457 )
* REDEL
(km (¥EA=FL) [m (A=t [em (¥ FA=Fb) [mm (Y A—FL)|
1 1000
1 100 1000
1 10

(1) 8 km= m (2) 1.8 m= cm
8 x 1000 = 8000 1.8 x 100 = 180

(3) 0.5 cm= mm (4) 0.25 m= mm
0.5x10=5 0.25 x 1000 = 250

(5) 1260 m= km (6) 48 cm= m
1260 - 1000 = 1.26 48 =100 = 0.48

(7) 25 mm=— cm (8) 374 mm= m
25+10=2.5 374 = 1000 = 0.374
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RD DK (SH30W, Afkas ., BI15 108, C#247)

(1) 6.1 km=

m
6.1 x 1000 = 6100

(3) 5.7 cn= mm
5.7 x 10 =57

(5) 990 m= km
990 = 1000 = 0.99

(7) 64 mm= cm
64-10=6.4

(2)

(4)

(6)

(8)

3.2 m=

3.2 x 100 = 320

0.4 m=

0.4 x 1000 = 400

28 cm=

28 - 100 = 0.28

288 mm=

CcIm

mm

m

288 <+ 1000 = 0.288
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